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I 32 K 4 ouT IN GROSS | HDCP NET
&8 N¥E*— 34 35 69 13 56
2 FOTHH 36 36 72 16 56
3 EBXE 35 37 72 16 56
4 & % 35 33 68 11 57
5 BIK—E 41 36 77 20 57
6 el =% 34 34 68 10 58
7 Y& A 34 36 70 11 59
8 AR E 33 36 69 10 59
9 REHE 40 31 71 12 59
10 BEREE 35 36 71 11 60
A0 & 33 43 76 15 61
A= 41 40 81 20 61
EFZEA 41 39 80 19 61
thlE— 36 44 80 19 61
15 EfEs 41 39 80 18 62
F OBUE 42 36 78 16 62
FE#Eff R 39 44 83 21 62
/N 36 42 78 15 63
AH =& 38 42 80 17 63
20 KARNE 40 44 84 20 64
REHRS 45 43 88 24 64
BHXF 43 43 86 22 64
RS 37 38 75 11 64
i i E] 39 38 77 12 65
25 M#ETR 42 38 80 15 65
S s e 46 43 89 23 66
BERER 39 47 86 19 67
Y= 46 46 92 25 67
Frit S| 38 44 82 14 68
30 HIEHh 44 43 87 18 69
FHFH 49 45 94 25 69
KEHES 51 40 91 20 71
HIIEE 45 41 86 15 71
[t &5 F& 7| 42 43 85 12 73
35 EEME 47 46 93 18 75
L2 E 43 53 96 15 81
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B BRFESF 33 32 65 5 60
2 INRIIUNF 38 38 76 14 62
3 IT I8 F 42 39 81 19 62
4 KABEF 40 38 78 16 62
5 LA FRT 42 39 81 18 63
H4F+ 41 42 83 19 64
EBEHPE 52 44 96 32 64
AR#f T 36 39 75 10 65
THEF 42 45 87 22 65
10 " EEF 40 40 80 14 66
INSET 49 44 93 27 66
EHEF 38 50 88 22 66
M EF 47 49 96 29 67
WETE 43 40 83 15 68




